Father's Day Math Challenge (J)

See who gets the most correct, Dad or Son.

Son
5 8
+8 x 1 +1
8 56 7
x4 =7 x5
15 3 8
+5 +9 -5
6 3 12
x2 x3 -7
3 14 6
x6 -8 -5
9 18 10
+6 =3 =2
5 4 2
x5 — 4 + &
2 8 9
+2 x5  +8
Score: /32 Score: /32
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Father's Day Math Challenge (J) Answers

See who gets the most correct, Dad or Son.

Son
3 5 8
=3 x5 X7 +8 x1  +1
7 40 21 13 8 3
9 9 10 8§ 56 7
-6 =1 -6 x4 =71 x5
3 9 4 32 8 35
1 4 5 15 3 8
x5 +2 -1 -1 +5 =5 +9 -5
5 6 4 9 7 3 12 3
9 1 36 8 4 6 3 12
-3 +£5 6 =2 +8 x2  x3 -7
6 6 6 4 12 12 9 5
10 8 45 9 9 3 14 6
-3 =2 =9 5 x6 -8 -5
7 4 5 18 6 1
8 40 56 9 18 10
-3 =5 =8 +6 =3 =2
5 8 7 15 6 5
2 7 8 5 4 2
x3 x6 -1 x5 =4 +8
6 42 7 25 1 10
3 1 64 2 8 9
x7 +5 =8 +2 x5  +8
21 6 8 1 40 17
Score: /32 Score: /32
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